ERD Assignment Grading Schema
(30 marks, 5 marks for each question)
Please check only the following points specified for each question and ignore any other points.
Question-1:
· Student’s answer must contain these entities: sport, discipline, competitor, judge, country.
 (2 marks)
· You can give 1 mark if only 2 or 3 entities are correct.
· All entities should have primary key. (1 mark)
· Student’s answer must contain these relations:
· Between competitor and discipline. (0.5 mark)
· Between competitor and country. (0.5 mark)
· Attributes correctly listed as in the model answer for the 5 entities. (1 mark)
· You can give 0.5 mark if the attributes of only 2 or 3 entities are correctly listed.
Question-2:
· Student’s answer must contain these entities: book (or publication), author, subject, editor.
(2 marks)
· You can give 1 mark if only 2 entities are correct.
· All entities should have primary key. (1 mark)
· Student’s answer must contain these relations:
· Between author and editor. (0.5 mark)
· Between author and book (or publication). (0.5 mark)
· Between author and subject. (0.5 mark)
· Between editor and book (or publication). (0.5 mark)
Question-3:
· Student’s answer must contain these entities: car, subcontractor (garage), customer. (1 mark)
· You can give 0.5 mark if only 1 entity is correct.
· All entities should have primary key. (1 mark)
· Student’s answer must contain this relation:
· Between car and customer. (1 mark)
· Attributes correctly listed as in the model answer for the car entity (1 mark)
· Attributes correctly listed as in the model answer for customer entity (1 mark)


Question-4:
· Student’s answer must contain these entities: employee, customer, product. (0.5 mark)
· All entities should have primary key. (0.5 mark)
· Student’s answer must contain these relations:
· Between employee and product. (0.5 mark)
· Between customer and product. (0.5 mark)
· Attributes correctly listed as in the model answer for the customer entity (1 mark)
· Attributes correctly listed as in the model answer for employee entity (1 mark)
· Attributes correctly listed as in the model answer for product entity (1 mark)
Question-5:
· Student’s answer must contain these entities: room, customer. (1 mark)
· You can give 0.5 mark if only 1 entity is correct.
· All entities should have primary key. (1 mark)
· Student’s answer must contain this relation:
· Between room and customer. (1 mark)
· Attributes correctly listed as in the model answer for the customer entity (1 mark)
· Attributes correctly listed as in the model answer for room entity (1 mark)
Question-6:
· Student’s answer must contain these entities: bloodbank, bloodbag, donor. (1 mark)
· You can give 0.5 mark if only 1 entity is correct.
· All entities should have primary key. (0.5 mark)
· Student’s answer must contain this relation:
· Between donor and bloodbag. (0.5 mark)
· Attributes correctly listed as in the model answer for the bloodbank entity (1 mark)
· Attributes correctly listed as in the model answer for bloodbag entity (1 mark)
· Attributes correctly listed as in the model answer for donor entity (1 mark)







